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Fr5 4 7 SHIES
1 Hrx 16 E/Y 4408 kpkokok ok 2425
2 J&] % @ 430 5%kskkkskokskokskk 5264
3 Tk % 4452k kkk0k 4k 1628
4 @Zx M i 430 Dok k4 313
5 Ex F 5y 360 7xkkkkskskkoksk ] 664
6 Xl HE 5y 441 3skskskskkskokkokk 7128
7 fEx H 5y 441 3skskskskskskdokk k002X
8 FE* ZE 5 2305kttt ] 111
9 Mk = 445 3kkskkkkkokkk (0834
10 £k 5y 441 Sskstskdokdok ok 546X
11 Rk 7 441 3skpiotok k6820
12 FEx % = 4503skskskskdkkokok k6515
13 Bk P4 5y 3607 xkkkkkokkkk4629
14 ok F =5 5002kkdkskskskdok k0273
15 M+ £ ES! 4408+kkswtokokkkok 3013
16 ok 5 5y 4304k Ak 4k 2024
17 fif [& 5 440234465216
18 dh % 4452k wkkkok % ] 25X
19 Pk 4 % 441 Stttk 04 1
20 Fik & 5y 441 Sskdskdokdokdok 1521
21 Bk 5y 360 4skskskskskskokokskk ] 54X
22 N ES T 441 3kskkskkokkkk k3321
23 Tk T 520 1sksksksskskokokkk 6047
24 X% B @ 441 3sksssskskskokokk (0340
25 s FH T 441 Skskskskdkkkk k4723
26 Eadk o S 440 6%k kkkx %0035
27 ES N 5 441 foessieopiorioriord 617
28 H* 15 T 441 3skskskskskskskkokk 3027
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29 LEHES = 441 kskskskstsketokkk68 10
30 JEx P 55! 447 3ksksroksokkekkk 3318
31 AN u 441 6%Hkkx55K%67 26
32 B E/Y 441 Bkl ik (0580
33 Mk 18 ! 441 Fkskekskstskokokokok 401 2
34 H* % = 441 Skskekskstokokokokok 1 034
35 2% TN @ 441 3sksksrcskskoksterskk 622 1
36 A5y 5°8 441 Jksrdokordokk 6840
37 Bk G @ 441 ksksdokokekkkk 2126
38 ik Bf 1 431 Ik k6544
39 Fx BS 360 7xkkkskskorskekk 3627
40 Sk 5B 441 Sskskstskstsketokkok 7416
41 Pk 25 @ 441 4ssksrcioreiokekk 3066
42 B 3 E/Y 441 3skiokiorior k542 1
43 H* 7 = 2308kskkskstokkekkok 4510
44 EIS % 2109kttt 6446
45 Tk 2 2l 441 Sskskstskstesketskakok (0519
46 7S 7 441 3stpotokiok 725
47 fafse 3 % 4409kpotok k5177
48 =2y T 4107 *kskkekskokokok k4648
49 A5k 4 5°8 441 Gkkrdokokdokk 0065
50 Bk 1% 5S 441 Gkskskskskskskkkk 362 |
51 Fx [q] 5 510 Tksksksksiskekokekek 0017
52 i @ 360 7xkkkskskorskokk4746
53 rx & L@ 5130skskskekstokokekkk4304
54 gk = 6124 kkkskskskekokkk 457 1
55 Bk S 5 441 6%k 00 10
56 ek BS 441 Skskskskstskotokokok 7323
57 M By 5y 441 Sksksksksdskstokkok G121
58 Fx — @ 41 28%kskskskskekskekok (002 1
59 Xl 4 = 441 Skskekskskoskokokkok 7314
60 [ g’e 441 Bssksesoknsior | 523
61 i @ 441 Gkskstokskekk4k5529
62 Tk T L 4452k skskk k%4 1 2X
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63 Zsx W 5y 420 5kksksksdskdkkk (0062
64 BAIES 2l 421 2sksktskstskekokkk68 1 6
65 BAIES BS 441 ksksksketskekokkk 6826
66 Fx H = 441 kskskskstsketokkk5 337
67 EI] @ 441 3skstsksksiketokokk 5447
68 g 2 5 441 3skstsksksickeiokokk05 16
69 B 2l 5109skskskeksisksiskeksk 0672
70 P B BS 431 Lkskskokstokskokkk 5924
71 Wy 7 3625%kskkkkk k%3029
72 M-k 5 210 1skskskskskskekeskoskk 5712
73 R* H '8 441 Jewsiepiotiorior0045
74 gk =% @ A4 1 Jskskstskstesketokekok [ 748
75 Aex & 44 ] Sksksttokokekk 502X
76 N @ 421 Qskstsksksiesketoeork 1427
77 Fx FE @ 440 5%sksksksikekokokk 2549
78 H*x 7% 5’e 441 3skstsksksikeiokokk 6723
79 Fik T @ 360 7xkskkskkskskekk5549
80 Zsx 5y 14053%kskkskekedokkok 4 728
81 25k JH 5°8 441 Jkksrtokorkdokk (0025
82 Mx IH @ 441 3sksksksksiketokokk4 385
83 Hx 7 441 JkkkkAAFFRG225
84 ik i 7 441 Ssokkok ok k5424
85 7S 7 441 3wkt 534 1
86 G| S 5 441 Bokikioriok k673 1
87 Rk A = 3607 kskskkekstokekkok 021X
88 S BS A4 1 festsrstsksiokkk 2286
89 sk 5S 6204 kkskkskkstokkkG 42X
90 M itk £/8 4305k kkkok k8688
91 s Ht 5y 441 Skskskskstskeiorskk 542 1
92 PR 2R £/8 441 3skpiokiok ik k6322
93 [DE R @ 441 Bkskstskstskstokekok() 788
94 Wk P @ 441 Hkskstsksteskstokakok | 76T
95 T @ 441 3sksksksksikeiokokk 7927
96 Mok A % 441 Jwsiepioiorior 3513
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97 X% HEF 5S 4309kkskskskskekokkk 3827
98 Ex H 5S 411 3kskkskskskokskekk 3546
99 [ @ 441 3sksksksksiketokokk 7625
100 ek @ 362 3kkskkskskorskekk 6127
101 gk R 5 441 3skpiotiokkk6919
102 IS % 441 3kl k6425
103 G 5’8 441 Bkl k3024
104 Hx HE 5’8 4405%skkkkkk0k k1 121
105 Fi* 16 /8 441 Jewsiepiorioriok 6825
106 Jex 5 441 3skswskskstokerkokk 551 2
107 = 5 441 3sksksksksiokeiokokk 5033
108 B JK 7 441 Btk k 3884
109 Mk 52 5 441 3sksksksksiokeiokokk23 15
110 M g 5 A4 1 dksskskstokeikokk 4 152
111 A% T L 41 28%skskskskskokk k%3228
112 Zsx B 5’e 411 5kswseskstokereiekk0401
113 Zx M i 441 3kkkokokkx k524X
114 X[ 7 4305%kkkxkkkk%k2545
115 Px 5 5'S 441 kskskskstsketokekok 4029
116 SENT E: 411 3xkkkkkk%%%5372
117 Ll 5’e 360 Tkekskeektokk 4905
118 fiix 7 © 4504k 8 56
119 fih 4 7 341 2kkkkkkk k%344 |
120 ARk 5 u 441 Gsksksksrskskskkk5 168
121 AT E’S 441 Jxssrsrsrsrrrrk (032X
122 x5 = 441 kskkskstskokokkk 251 2
123 M- 5S 441 Ssketkstoksiokkok 2324
124 Vif* BS 511 6%kskskskskorskorsk 7847
125 Tk 12 @ 441 festskstsksiokkok 3325
126 (CRil 5 441 3skpiotok k(0450
127 ik % 441 3xsoksokkrrk 1 17
128 sk 2l 441 Sskskstskstsketokkk 68 1 3
129 sk = 441 Skskskskstskatskekok(00 19
130 M g 5 441 3skstsksksiketokok k2610
%40, K6




131 L °© 441 Jxskskskskskskorkk 1843
132 sk 5S 2306kskkkskkstskskk 062X
133 MRk 25 °© 441 3kHkkkkokk k%6345
134 R LS 441 Sskssriork 205 1
135 Joix L 441 Skkkdokokrkk 1021
136 Tk = 4304 kkkkAk4k k9698
137 Bk g 5’y 441 Jskkttokoktokok6825
138 B B =5 441 4esktokskkkdok 1599
139 &% K 5 441 3ksksiskdskkokkk5 116
140 % 5 152 7skskskskeiesioskokoksk 7018
141 Mk T 441 3skskskskekskekokkk 1425
142 Ji* 5 5 440 2% Hkkkkkk k%0413
143 ik 4 7 441 stk k002X
144 Mk &% = 441 Sksksdskstosksdokkok G2 ] 2
145 ok 5 441 Qksksrskekskekokokk 121 3
146 Jex IH T 411 5%skskkekskekokok k4548
147 Sk fi 55! A4 ] Akstesrskssksiorskk 191X
148 Xl [ L 4206%xk4kkkk4% 2928
149 Pk 5% 7 441 3tk k21 22
150 AR % 4452%kx4kkkkk%k5 1 TX
151 S 5y A4 ] Bkskstskstoksiokkok 7227
152 1k F 5’8 441 Jkskskskskskskokkk 1229
153 H* s 430 4kkx4kkkx%%6314
154 Jils 15 E‘y 421 Otttk (00 24
155 JESES 5 441 3skskskskekskekokskk 4012
156 XiJ* 1 441 3kkskkkkokkx %0924
157 Zx R °© 441 3kkodokokkxkx4729
158 % T 441 3kskskskekskekokskk 6822
159 &% IH 5y 441 3ksksiskedskkokk k5846
160 T H E’S 350 Txkkkskskokokokk 452X
161 T 1 445 2%Hkkkkkk k%4529
162 ks @ 4309ksksikskskokekkk (0022
163 (ISP 5 b 441 3ietoionkk0219
164 ZEx © 1304sskskskskskokotokok 1 722
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165 x T 441 Gkkeksiskekokok 6964
166 Wk i S 441 dssotsssonsksk k0368
167 ik % 5 441 3ksweskstosreiokk 401X
168 gk e 5’8 441 Gxkkkrior k4444
169 M Y @ 441 Skstsksksioketokokk 3108
170 Xk BE °© 5136xk4kkkkokk k(0768
171 e By 5’ 441 Sssotsrsotokok k3322
172 R L 430 4kxk4kk k4 4%6548
173 Wk I8 % 441 3kkkkkkkk k4036
174 Xl $E L) 441 Skxkdokkkkk0513
175 T 5 362 Jkkkkkkkkokok 1635
176 Jifi%k 1T 2l 5105%skskekskksiskeksk 1475
177 2% L 441 Hkkkdokkkkdk 3565
178 Bk I @ 441 3skstsksksiketokokk 2527
179 Mk L 5 441 3ssesetikk03 10
180 fhix 1¢ 5 3624xHHsddokokokok k3538
181 Pk 2l 441 Bskstsksteskstskekok | 572
182 wix 3% 3B 441 Gsssosoiiork 3859
183 ek Jik @ 441 3ksksksksiokekokok k6426
184 gkx B u 441 Jskskskskskkkkk 5424
185 T P 5’8 411 Bskskskskskororkk 3722
186 Fx 5S 232 THsksksksdskakokakok 06 28
187 )k L 6104kkkdkskkk4k 2228
188 Tk B = 4129%kskskskskkoksk k085X
189 ME* % 441 3xsktkxrkk(0215
190 H* &5 T 2206%skskkkkekokk k0028
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